Name:

July 10, 2022
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Sr: 10072022-2755
MATHS WORKSHEET %’

11-PLUS
SATS {ﬁf)
GCSES \Z

ERATOR

1) (-611) - (-711)

2)  Increase 100 by 19%

3 1785+35

Answer: Answer: Answer:
4) v 107 s 5)  Convert thefollowing fractioninto a 6) Decrease 98.4 by 31%
mixed number: 32/
Answer: Answer: Answer:
7) 910 + 35 8)  Simplify 19:24 9) Factorise f2 + 6f + 8
Answer: Answer: Answer:
10) Round 15.65056416 to 5 decimal 11) Find perimeter of 12) Find area of
places. triangle b rectangle having
b b a=250m, b=509 sidesa=755cm
m a and b =569 cm
4
Answer: Answer: Answer:
13) Find perimeter of 14) Find perimeter of 15) 245 of 99
sguare having each square having each
s side (s) equals 623 in s side (s) equals 623 in
s s
Answer: Answer: Answer:
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sguare having each
side (s) equals 712in

Answer:

Answer:

16) 15 2g-17 2 17) 6,-161, 18) Find the percentage change from 20
to19
Answer: Answer: Answer:
19) Find perimeter of 20)  Write 3x 102 asanormal number. 21) 'What isthe probability of rolling a

number less than 2.when rolling a
dice

Answer:

22) 4,5 0f 100

23) 157.1 + 562

24) 182+1+9

Answer: Answer: Answer:
25) Y19- g 26) 27) Decrease 56 by 69%
Find Volume of
Rectangular Pyramid
27
Answer: Answer: Answer:

28) Decrease 56 by 69%

Answer:

29)  (-161) - (-659)

Answer:

30)  17%of 27

Answer:
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31) 2548+196 32) Decrease 294 by %gg 33) /
‘Name the type of angle.
Answer: Answer: Answer:
34) 35) Convert the following fractioninto a 36) Factorisex? + 7x + 10
20 Find Volume of mixed number: 23/,
Cylinder
Answer: Answer: Answer:
37) 145 - 117 38) 39) 49 x (-33)
Find the next three numbersin
the sequence
20,25,50,55,110,115230 , ,
Answer: Answer: Answer:
40) Convert the following mixed number 41) (-8) x (-42) 42)  Write 6000000 in standard form.
134, into an improper fraction.
Answer: Answer: Answer:
43) Solve by factorising 44) 'What isthe probability of rolling a 45) 6x10
g2-4q-12=0 even prime number.when rolling a
dice
Answer: Answer: Answer:
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Total: /50
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46) Decrease 124 by 1/31 47) Decrease 28 by 25% 48) Share 20 in theratio 2:8
Answer: Answer: Answer:

49) Round 0.141 to 2 significant figures. 50) 416 x 473
Answer: Answer:
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Name:

July 10, 2022

1) 100 2) 119
8)19:24 9) (f +2)(f + 4)
15) 6 16) 4%/,

22) 16 23) 719.1

29) 498 30) 4.59

36) (X + 2)(x + 5) 37)28
43)gq=60r-2 a4) Y

50) 196768

3)5.1
10) 15.65056
17) 2y

24) 333

31) 1.3

38) 235,470,475,
45) 60
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MATHS WORKSHEET ﬁ/

Answers:

4 g
11) 1268m
18) -5%

20
25) “lin
32) 285
39)
46) 120

5) 3%,

12) 429595¢m
19) 2848in
26) 8100

33) Obtuse
40) 33,
4721

Sr: 10072022-2755

MERATOR

6) 67.896

13) 2492in

20) 300

27) 17.36

34) 25132.741228718
41)

48)2:18

11-PLUS

SATS .
GCSES

7) 26
14) 2492in
21) Yg

28) 17.36
35) 23

42) 6x 106
49) 0.14
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